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Part - 111
senflgo / MATHEMATICS

(sl whYd mEle aufl / Tamil & English Version)

[ Quorgs wHLQueaETser : 100

Time Allowed : 3.00 Hours ] [Maximum Marks : 100

Aleyenrsst : (1) imarsg) dlemméserd sflurs iFal udeurd o drarsr TRTLISEET

Instructions :

GOy :
Note

GOl

Note :

silurisgés Qemareraib. Sgaudlede GapuWl@mlde <oné
samareniuLrariiib 2 | angwirs Osfleléseyb.

B  dez smHUY  owbamar WLHCL  TgusDHE Wb
g &ECETQausHGL Luau@SS Cauam@b. UL kisdr umreUSn (S
Cuendléd LweTLRSHeyLb.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Qavellamgsrer muenE LESHsmar Qs reRmL_g).

This question paper contains four parts.

Choose the most appropriate answer from the
the option code and the corresponding answer,

U@ - I /PART -1

SADMSG| eflennés@néEn ofenwiafésayb. 14x1=14

Qar@ssiul_L BresrE oflenLsafld Wsayd ey w eNenl ufenar
CobAs058 NG eflen_ulenamyid Coiigal eT(psayib.

Answer all the questions.

given four alternatives and write

[ &®UYS / Turn over
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A={1. 2, 3, 4, 5) -edlmps B crenm HeansHDE@E 1024 26 sHer 2 aTeng) eraflé B -&
1
o drer o misaile cTarTeilEas

(1) 3 (<) 2 (@) 4 () 8 f
If there arc 1024 relations from a set A={1, 2, 3, 4, 5} to set B, then the number o
clements in B is:

(a) 3 (b) 2 () 4 @ 8

R=1{(x, 22)/x ~2a1gl 13 - 65 GOpaITer LET Gramiaer erenD 2 medlen 5EEHLMENS) -

(=) 2,3,5 7 () 12, 8, 5,7, L1}

(@) @, 9,25,49, 121} () {1, 4,9, 25, 49, 121}

The range of the relation R={(x, x2)/x is a Prime number less than 13} is :
(a) .3,57 (b) {2,8,5,7, 11}

(c) 4,9,25,49, 121} d) {1,4,9, 25,49, 121}

1729 - LETS STTETULBSSID Gurg), oibg LST aramaanan HE@Esafer saabHF®
(1)1 (<) 2 (&) 3 () 4

The sum of the exponents of the Prime factors in the Prime factorization of 1729
(a) 1 (b) 2 (c) 3 (d) 4

apern wrhsefldy SiemHS eparm Gpiflwied swearur@aafiar QarELinE Srelser
@ éoaaQueaia, 250gmEUe 2 eTar SETBIGET

(=) eCr e yerefulle QeuL_(Hlermer

(<) @Cr @@ Carlige Qeul_(halemment

(@) gonlan Bg ey AUIMHHHID

() gemenm@uirenn Geul L mg) ,

A system of three linear equations in the three variables is 1ncon31stent if their
planes :

(a) Intersect only at a point

(b) Intersect in a line

(c) Coincide with each other

(d) Do not intersect

-
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5. x+y-3z=-6, -7y+72=7, 32=9 eranp Qe LSen ;%r’rmlz

(&) x=1, y=2, z=3 () x=-1, y=2, z=3
(@) x=-1, y=-2, z=3 (FF) x=1, y=-2, z=3
The solution of the systcn’i X+tYy—3z=-6, ~Ty+7z=7, 3z=9 is :
(a) x=1, y=2, z=3 (b) x=-1, y=2, z=3
) x=-1, y=-2, z=3 (d) x=1, y=-2, z=3

6. Spss@LcupmIET orgl y2+y_2 -&G& s @)dan ?

y +1 1 2
(=) 72 (<) [y + ﬂ
i il 1Y
(@) !:y—g] +2 (W)(H‘FE} =2
2. 1,
y ";5 is not equal to :
y*+1 [ 4%
(a) y2 (b) |¥ ﬂ
2 2
1 1
S R - =2
o -4 o (3

AABC -uié DE|IBC AB= 3.6 Gls.15, AC = 2.4 Q&5 wpmidb AD=2.1 Q&..8 erafléd |
AE -Wlén Berid- .

(=) 1.4 Qs.i8 ,(%) 1.8 @&.15 (@) 1.2 Q&b () 1.05 Qg.5.

If in AABC, DE||BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of
AE is :
(a) 1.4 cm (b) 1.8 cm (c) 1.2cm (d) 1.05cm

[ Hmuys./ Turn over
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ol Ladar Qavafliypl yareludempa e sHpe eTHHmen AEICIE Oy

cuenuemn ?

(<) eI (<) Qe

(@) Wwyeupn 6 eantldens (1) Lpseflwid e
How many tangents can be drawn to the circle from an exterior point 7
(a) one ‘ (b) two

(c) infinite (d) zero

3x—y=4 wppb x4+ y=8 Aw CriGsrOadr spHa@n yerafl :

(=) (5, 3) (<) (2, 4) (@) 6,5 (/) (4, 4)
The point of intersection of 3x—y=4 and x+y=8 is :
(a) (5, 3) (b) (2, 4) _ (c) (3, 5) (d) (4,4

Gesm_Psme® PQ -uWllen smisey —13~ arafléd PQ - Qeri@ssTer @B Ceuliquiler

7
FTIGY !

' i
(=) 3 () -3 &) 7 () O
If slope of the line PQ is % then, slope-of the perp‘endicular bisector of PQ is :
@ 3 b) -3 © @ o

gt gfuder GG h 5 2 wrsse o Grar @m Yerafludelmbg CwassHnE o erer
gon&Caramd B. Cua Wibusdear @néssGarambd 45° erafler gfluled Qmbg
CuasdneE -arar o wywrerg (WBLLfe) :

h(1 + tanp) ; h(1 — tanp)
(=) s (@) s
(&) htan(45°~g) (7)) @eupmier ergib @evena

The angle of elevation of a cloud from a point h metre above a lake is B. The angle
of depression of its reflection in the lake is 45°. The height of location of the
cloud from the lake (in meters) is : ‘ i

(a) h(1 + tanp) (b) h(l - tang)
1 — tanf 1 + tanf
(c) htan(45°-p) (d) None of these
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12. @ a.@emmuﬁlsm D...U.IIJ'@GD@ LOT DM MO <D G 60T .,-_%[rg;a‘mgﬂ urr'd';]quragg'; Q& meger(h ué]u_j
o mever e (maunssiLBADS. UHW LHmid phagw e penarsaflen HaTDiaTeSar e
e9fBLd

(1) 1:2 () 1:4 (@) 1:6 (%) 1:8

If the radius of the base of a right circular cylinder is halved keeping the same
height then, the ratio of the volume of the cylinder thus obtained to the volume of

original cylinder is :

(@ 1:2 (b) 1:4 (c) 1:6 (d 1:8

13. @i SersGarergsle Qurssiurliy g6 <y rsdHauemii aiéssden

DL BISTGLD.

(=) ™ (=) 4w (@) 3w (FF) 2w

The total surface area of hemi-sphere is how much times the square of its
radius : ‘

(a) = ., (b)) 4w (c) 3w (d) 2=

14, @ usEEEH S MBS swauMULIL papudsd @m LssD CaTpRsPssLLGEDS. SibS
L&Gs eramenflen @ermTd @L wHlurag 7 -g MLé Gopeaurs QBUUSDSETET

flapgsseurang) :

;
(@) 15 (@)% ) o @ g (™ 3

A page is selected at random from a book. The probability that the digit at units
place of the page number chosen is less than 7 is :

(d)

| w
O

(&} " = (b) — (c)

[_@@DL{&S / Turn over
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u@&$ - II / PART - 11

GOy : stemeuGugnd 10 AerésErsE efleLwallésa . eferm erewr 28 -f()@x)z=2o
sL_Lmunors e wafl&se.
Note : Answer any 10 questions. Question No. 28 is compulsory.

15. AxB={3, 2), (3, 4), (5, 2), (5, 4)}} aafléh A Hmb B -gg Srens.
If AxB={3, 2), (3, 4), (5, 2), (5, 4)} then find A and B.

16. A=, 6}, B={4, 5, 6}, C={5, 6, 7} erafldh AxA=(BXB)n(CXC) erans sT_(N&.

If A={5, 6}, B={4, 5, 6}, C={5, 6, 7). Show that AXA=(BXxB)n(CXC).

17. s 10 Que erapmsermed WHulend euguLS salqws Sl erar ergl ?
Find the least number that is divisible by the first ten natural numbers.

18. —11, —15, =19, .......... eTell Fal (& QHmLit auflensudien 19 -6ug 2 MILIEHLIE SIS,

Find the 19" term of an A.P. —11, —15, —19, ..........

400 x*y'221° :
19. 5 7 4 "6 QUTESMPELD STENTS.
100x"y "z
400 4 12216
Find the square root of x g $ 7
100x"y "z

20. ABCD eranm @ &fleussdler AB|IDC wpmid P, Q erevuer wpenpGw LGsmhisar
AD wpmib BC -wen Bz <amwpgearer Yearaflser <@, Cuoeaub PQ|DC,
PD=18 Q.15, BQ=35 Q&.15 wpmd QC=15 Q&.15 eraflér AD -g srams.

ABCD is a trapezium in which AB||DC and P, Q are points on AD and BC respectively,
such that PQ|DC. If PD=18 cm, BQ=235 cm and QC=15 cm find AD.

21. A(-1, 2), BK, -2) wpmib C(7, 4) g Hweupen aflemsurer wevariyerelsarmss
Qarar_ waGaramgHear Lyl 22 F57 HOGSET erafled K -ufen iy sraws.

If area qf triangle formed by the vertices A(—1, 2), B(K, —2) and C(7, 4) is
22 sq.units, find the value of K.
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22. (3, —2), (12, 4) eranp yaraflaar auifls Qacogiib CpisCar@ P ohmid (6, —2) HDID
(12, 2) eramp Yeraflsar afié Qadgid CrisCar® q G p -B@E 4 -56
@eremun(GLor ?

The line p passes through the points (3, —2), (12, 4) and the line q passes through
the points (6, —2) and (12, 2). Is p parallel to q ?

23. (5, 5) wppib gFuyereilsemar Qmens@n CrisGar igen smimes SIS,

Find the slope of a line joining the points (5, ,/5) with the origin.

24. 103 § wpaperer Camyrsdler oiqulafimmg 30 8 Qgrepaeile seruded o e
em yarefllampg CarUTsdlan 2 &fullen ghpsCararsmss Srams.
Find the angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of tower of height 10v3 m.

25. 704 5.Qs.18 Qurgst Upliugliy Qerar o sber <,rb 7 G518 erafld, oigar
STUWITLD STERTS.
If the total surface area of a cone of radius 7 cm is 704 cm?, then, find its slant
height.

26. @i 2 memeruden <Ly LHMHID 2 wrksefler NSSD 5 : 7 HYGWD. SiFer euemeTUTLIL
5500 &.0&.15 erafléd 2 menarudlen <Lrib WHMID 2 WIFLD STeEs.
The radius and height of a cylinder are in the ratio 5 : 7 and its curved surface
area is 5500 sq.cm. Find its radius and height.

27. @ euwle 5 Aauliy HpL UBSIEEHD, 6 Ceudtear BipL LHSISEHD, 7 LFms HmL
UbgIS@sD, 8 smHLIL HpL UbSISEHD 2 eTaTar. FweumiuLy wpemudled enuiudledl(mBHs)
@ UbHG) THE&sLILRADG. SiHS LHS (i) QeusTenar (ii) &HLIL feg FHeuliy
-8 Q&S HEpSEMaIE SIS,
A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is
drawn at random from the bag. Find the probability that the ball drawn is :

(i) White (i) Black or Red

28. x -&n WwHliLIE SIS, X2 —4x—12.
Find the value of x, in X2 —4x—12.

[ HlpLiys / Turn over
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GOy : sTemeuBueyd 10 clamés@héE eflenwalldsa|b. Qe eremr 42 -&©&
sL_Lmuwrs el waflé&sa|id.
Note : Answer any 10 questions. Question No. 42 is compulsory.

www.Padasalai.Net www.CBSEtips.in

29. Qar@&sUiul L 2 peyser geubleursmanmu .

30.

31.

32.

(1) <bY&SE@EH LD
(ii) euenyuLLD
(i) ulgwed epepuid GHES
{(x, Y/y=x+3, x, y ApHwereu Quwicd erairaaT <10}
Represent the given relation by :
(i) an arrow diagram
(ii) a graph and
(iii) a set in roster form, wherever possible

{(x, y/y=x+3, x, y are natural number <10}

10x5=50

1230 wpmd 1926 PEwW cramsmer a@Gs@GLCUTg B 12 -m& srésmigw

BsUQuilw eramenentd &mes.

Find the largest number which divides 1230 and 1926 leavmg remainder 12 in

each case.

@M &l G]g,rrL_r'rGurﬂsmauﬁléT Garugraig o muler @atug WLREGLWD,
uglmenbgreg 2 muiker LSmenbs WLLRIEGL SwLH daild QMUSS BrasTeug)

2 miindler pm L BsTag LFSWD erer Hime|s.

If nine times ninth term is equal to fifteen tlmes fifteenth term show that six

times twenty fourth term is zero.

sies: D tob=28 b’ - 49
T 12 g
b? +4b+4 b% -5b-14
- b? + 3b — 28 b? - 49
Simplify s = _

b2 +4b+4 b2 —5b- 14
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X =12x3+42x2 - 36x+9 eremugen QUITGSPEILD GTerTs.

Find the square root of x*—12x3+42x2 -36x+9.

GSAT peopufer x2+2x-2=0 -gs SréseyLb.
Solve x2+2x—2=0 by Formula method.

Gamemt @@smG]a_n'_Lq; Canmsams eripd HlemQdseid.

State and prove Angle Bisector Theorem.

@@ wailger 18 8 dwsCs Cseary Genant 24 18 oL &Gs Qaddprer. QT &
Hevauldlmbs e Qmssh Osrawmald Srams.

A man goes 18 m due east and then 24 m due north. Find the distance of his
current position from the starting point ?

(8, 6), (5, 11), (=5, 12) whmid (-4, 3) W yerafaamer peransenras Clsrer
Brsrsdlen Ll Srems.

Find the area of the quadrilateral formed by the points (8, 6), (5, 11), (=5, 12) and
(_4’ 3)

el SeumoLw oflighe@ Qeusfllie HamCsrar® e geramer 2.8 LOMHID
<y Spdweupern wperpGw 60° pMIDd 45° A gHn&Careanmmiisaiies srandmm.
iaufler 2w 180 Qg8 Cuaib &l ydlmbg 5 8 Agrawaid el 2 arearmr
erarfled gyetmemmadlent 2 LTSNS SHTES. (\/5= 1.732)

To a man standing outside his house, the angles of elevation of the top and bottom of
a window are 60° and 45° respectively. If the height of the man is
180 cm and if he is 5 m away from the wall. What is the height of the window ?

(ﬁ=1.732).

@ 2 (menem 6ulgeuLl Sturu@er o wrd 20 Qg5 wHmID SigliyD < rb 14 Q.15
crafler igei cuaneTLIrLiL WHmb QrEsSH YpUurlenus Srears.
A cyiindrical drum has a height of 20 cm and base radius of 14 cm. Find its

curved surface area and the total surface area.

[ Sy / Turn over
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484 Qe.d sppareydrar g WwrésmbGear 2 wyb 105 Qg.8 eraed,

DOTENCUS & ITEITS.

: , . . ‘nd its volume
If the circumference of conical wooden piece is 484 cm then, fin

when its height is 105 cm.

Qran® Frran usmLsaT pepwits Gy Crrsdld 93_@1'_I_I'Jl—1®3c>]537,035“-.
(i) Qraw® useoLsaigib @Cr s wHLY SoL s

(ii) s wdluysailer QUIHSSDLMEGT LST cramamTTas SenL&d

(iii) s wdlyseafler FmBHSDH UST eramanTTss HenL_&6

(iv) s méluqésaﬂsiﬂ FaHgD 1-us Qmé&s < pdw Hlapsdeatier H&LpS556|5mens
STEHTS.

Two unbiased dice are rolled once. Find the probability of getting :
(i) A double:t (equal numbers on 50th dice).

(ii) The product as a Prime number.

(iii) The sum as a Prime number.

(iv) The sum as 1.

@@ Lear xy sersHe (6, 4) erenm yarafluder o ararg). (-5, —11) eremp yarefuded
@ LTl Ly eeassiulBererg. yoar Wlas gndw girb uweaggl Lird
SmHs Ambydpg eafle, uTmaL LUBGGUSDEGS Csmeuwmar Limen &ud e
FOGTTL_ 6O & STES.

A Cat is located at the point (6, 4) in xy plane. A bottle of milk is kept at
(=5, —11). The Cat wishes to consume the milk travelling through shortest
possible distance. Find the equation of the path it needs to take its milk.
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U@ - IV / PART - IV
SO : SPVESI cllanss@ema@ind e wefldsal .

‘Note : Answer all the questions

2x8=16

43. (1) W&CHTamDd PQR -an @55 LssHEisallear eIfgiD _;: srenmeurml eh culglleuTss
W&GaTED uars. (=iemey smiyawnf Z>1)
3

360605

& (=) 6 Q.5 GQ-LL_(I_PGiTGT ULLD cuemphg eul L gdlen owwusHdmpg 8 G
@gfrrsmuaﬁlm P erenm Lerefleniud @mlssayib. @itiydraildelmng PA whmib PB
eramm @ QsTHCsTREE auerha 2leupdlar Heraisamer Sieredl(Hs.

(a) Construct a triangle similar to a triangle PQR with its sides equal to 5 of

the corresponding sides of the triangle PQR. (Scale factor _g> 1)

OR

(b) Draw a circle of diameter 6 cm. From a point P, which is 8 cm away from its
centre, draw the two tangents PA and PB to the circle and measure their

lengths.

(1) X2 —9x+20=0 crem FOETUTL g @ euenTLL LD auenyhgl STellan Senanloamwis

M.
2|6V60F)

2 _ax+3-ul uUETLLLD QUDTHE ABE PO x2-6x+9=0 eremm

() y=x =il Qe
FloGTUTL LS STEEA|LD.

(a) Draw the graph of +2-9x+20=0 and state the nature of their solution.

OR

2 —4x+3 and use it to solve X2 —6x+9=0.

(b) Draw the graph of ¥=

-00o0-
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